2 &AM £|LtR?

8
=

7| ol 7|t

Lct.

tLl H|80|] {5 Bto]

-
o]

GRS E oL SHHALE Stz

HF X

Mz o

7] olgi= 8%

Fols

3
=l

Al Gl ESEE Hee

L|Ct.

I

o
[=)
=

OjFE M Alohofof

g % iLte?

10

ofC|M =

7188

kio
K1
70

g

S o'y

Q2: MMR

EEEY

E20| AO|E https://nip.cdc.go.kr Of

HF X =
==

g =25 o

pN|
=

A2:

7
kfo

L|C}.

5t
o Hd

elo] 7t

I

3
=l

=2lo] oYHYE7|F0f 5o

HEA

pre
[=]
)

Y

(o]
=

Q3: 19674 O|™ ZMX}

HZsHo} st Q?

Za 1=

v

A3: 1967 O™ ZMX}

H7tR?

o
s

M7t o 71 A7t 27t

t

pre
[=]
o

A0l
O -

LICt CHE

SHAl= H&
ot

3

=
o
[

s
SHHAE Al

ol Xy

i

A
ol

A

4

M7t d7|X| E=Can of

st
<]

0

ofn
kfo
%1

o]
fal|
0

i

=
10

2 =
= T

1-274

SHHA = S

stojof o}
Agsta, WEHE 1-274

ko
pail
10

.I

F

PS|
(=]

2 =
= T

op7|+=Hez HE 7Iseta?

K=1
=

Qs: IEFSFI=

A5 4l 7SR CE

7t'sstrta?

£
=

o, AArZX[Z A

=
[

b

=Cn s

()3
LS

Q6: 2|At7} 2

A6: 4l ZtseLICt

SNUH® M2



L7k

L35t
o H

7t 7t

g

t

Q7: oft

L Ch gL S7HofsHA

AEUH=Z oY

=
e BT 2

totsl, of

=
~

A

ol

A
=

St7] ofECHH 1A HE = Ao

A E LT

10

28l0f 3iLtR?

b

ol
oju

|

Rl

A0z 23]

I
ollol_l-

Q8. =5 OIY-ZS 13M O[T Al

.I

K

A8: 13A| O]

L|C}.

St
=1

tof ot

10

(K,

2 XM2 14 O|Lf HAZII} QUG E SHOFSILER? WALMO| E = HE/0fo} siA M2

o2 HE7te oA et =2 674

ME5H0] FAI7| HREFLIC

Z2iE

4 X]
(= bl

= 671l O[Lf<]

tXrete] FHO| gieh o=z7|2el S 8 2= Ql0M

f

4

H ZAF (IGRAS A&t 674 O|Lfol ZAA}

Zor &

L ct.

St
=1

SE

=
=

ELtR?

ot

-
o

0| H

Al
=

LI

| &=l ALE

o

0l

2 M7tK 50| Mg L.

2+l

SNUH® M2



